Advanced Facts Master (version B)

02toF= M*4= 8+9= 4*2= 1%toD = 0+4-= 2%3= 96 +12= 60% to D = 3*6=
7+2= 32+4= 10% to F = 11*9= 912 to SF = Yo—'fo= 27 of 28 = 144 +12 = 36+3= 60 +12=
YatoD = 4+7= 1M0+11= 10+2= 36+4= 15to P = 7+9= 4+9= 6*8= 32+8=
12-8= 7*9= 99 +9= 70+7= 12*7= 3*5= 4*4= 6*3= 11*6= 14-6=
12*5= 27 +3= 4*12= 20+5= 81+9= 3*2= 13toD = 12+2= 132+11= 1m+7=
9-7= 90%toD= 8*6= 9*9= YatoD = 4*11= M+1= 05toF = 04toP= 21+3=
7*5= 48 +8 = M*7= 120+10= YatoP = 4%toD = Vot Vo= 2+1= 2*9= 4*5=
8-7= 1/5t0D = 30+3= 7+2= 24+12= 4/5toD = 8*7= 6+5= 9+3= 12-4=
1M*12= 03toF= 56 + 8= 30%toF= 6+3= 5+1= 7%12= 3*11= 20+2= 5%12=
6*6= 13-8= 28+7= 20%toF = %toD= 6*4= 18+3= 2/3 0f 18 = 3+1= 40+8=
28+4= 3*3= 8-6= 8*2= 33+3= 6*9= 6-4= 8*8= 4/6 to SF = 4=
6+4= 100% to D = 4*6= 8+1= 36+12= 6+9= 64 +8= 10°= 8/12 to SF = 3*12=
132+12= 2*8= 475 of 30 = 13-4= 9*8= 6*10= 8*4= 48 +12= 12*9= 30+6=
112 = 36+9= 18-9= 9*5= 2%6= 7*3= 12*2= 21+7= 146= 18%toD =
45+5= 12*10 = 16-7= 42+7= 3*10= 7*7= 15+3= 12+3= 8*9= 271 +9=
24+3= 9*10= 3*7= 8+7= 5*9= 8*12= 18+2= 9*7= 4*10= 16+4=
4*7= 08toF= 12%4 = 8+9= Va+2/4 = 9-2-= 40+4-= 4/5t0P = 006toF= 7%6=
11*5= 8+2= 9*2= 2/3toD = 08toP= 12*3= 2+2= "M*11= 44 +4 = 2%4=
12+1= 14-5= 2*7 = 5/100to D = 1M*2= 12*12= 63+9= 7*2= 3+9= 9-3=
2%2= 6+6= 48 +4 = 12*11= 6/8 —2/4 = 12+3= YatoP = 6*12= 3*9= 9 +8=
8% = 5*8= 3+3= 60+5= 7%4= 12-9= 24 +8= 8+6= 72+8= 5+8=
9*3= 15-9= YatoP = 2* 1= 0+9= 13-5= 16-9= 2*10= 7-3= 5°=
350D = 55 +5= 510to D = 4*9= 7-1= 13-4= 0.08toP= 2/4t0D = 1*0= 2/5t0D =
1+1= 24+2= 6*5= 6*11= 9*11= 14-8= 5/10 to SF = 2*5= 210toD = 3*4=
712+12= 10+10= 8+7= 6+7= 84+12= 24+6= 4*8= 11*3= 12-5= 9%4=
84 +7= 4*3= 04toF= 11*8= 7*10= ¥= 12%6= 13toP = 2°= 6*7=
54 +9= 5/8 - 2/8 = 14-7= 6*2= 8*5= 60% to F = 10%to D = 70%toF = 17-8= 4+1=
56 + 7= 8*10= 108 + 12 = 40+5= 7+4= 9= 49+7= 11-3= 9*12= 2+2=
2*12= 72+9= 12*8= 7°= 16+2= 108 +9= 6° = 11*10 = 8*3= 25% toF =
2= 9%6= 14+2= 3*8= 8*11= 122 = 40% to F = 35+5= 71 = 8+3=




